1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note :

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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With a neat sketch, explain twk (04 Marks)
Explain the functionalities of QSI reference model layers w1th neat diagram. (08 Marks)
Explain the following:
1) Direct sequence (
i)  Fiber opt1cs an copper wire.

(08 Marks)

OR
List out 6 different types of services provided under connection-oriented and connection less
services. & (04 Marks)
Explain TCP/IP protocol suite of é“omputer network w1th aneat diagram. Also represent the
protocols used in each layer of the model. s, ¥ (08 Marks)

What is path loss? Explam different types of frequency bands in radro transmission with

VVVVV

necessary diagram. (08 Marks)
e { 3y :
Module-z IIIII
Write the steps for'ecomputing CRC. Fmd the codeword for the message frame 1101011111
and generator: polynom1a1 G(x) =x'+x + lusing CRC. (08 Marks)
With a neat diagram, demonstrate the worklng of G() BACK-N protocol. (08 Marks)
Describe pure ALOHA and slo’tted ALOHA. ‘ (04 Marks)

check bits.

(08 Marks)

Explam the working of stop and wait protocol for a noiseless channel. (08 Marks)
With a neat dlagram explain the Worl«:lng of CSMA/CD protocol. (04 Marks)

© Module-3

Explain the routing processtwﬁhm datagram network and virtual circuit network with a neat
diagram. (08 Marks)
Explain distance vector routmg algorithm with an example. (08 Marks)
Bring out the Leaky Bucket mechanism for traffic policing. (04 Marks)
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OR
Explain different types of packet scheduling algorithm_ with neat dlagrams (08 Marks)
Write the Dijkstra’s algorithm and apply it to the following graph (Refer Fig.Q.6(b)) with
source node ‘u’ to find shortest path to all other nodes. -

(08 Marks)
Describe two major differe es between the ECN and RED method of congestion

avoidance. (04 Marks)
Module-4

List and explain the prlmltlves for a simple transport service. (06 Marks)

Explain connection establishment between server and the client using TCP. (08 Marks)

With general format, explain the varlous ‘fields of UDP and explain how checksum is

calculated. ™ = ™ (06 Marks)

£ . OR

With a ueat dlagram, explain each ﬁeld of TCP header (08 Marks)

Write a note on Max-Min fairness:” (06 Marks)

Explain the steps in makmg a remote procedure ca Wlth a neat dlagram : (06 Marks)

Module-S

What are the 2 dlfferent ‘architectures u ed in modern network ‘application? Explain each

(08 Marks)

(08 Marks)

(04 Marks)
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(04 Marks)

With a neat dlagram exp aln how SMTP Qan be used for transmitting mails from sender to
reeelver Ve v (08 Marks)
Explam the various’services provided by DNS and problems associated with centralized
design. . (08 Marks)
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